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FECONOMICS
Paper 1
Time : 3 Hours - Maoximum Marks : 150
Note — Attempt five qgquestions 1n all Ques\tion No. 1 is

compulsory. All questions carry egual marks.
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1. Explain consumer’'s egnilibrinm using revealed preference
hyvpothesis. How is this theoryv is different from indifference
curve analyvsis ? Under what conditions thése'theories
are often crit.ic‘ize.d as unreal. What thecoretical
developments have taken place in the area of consumer

behaviour in last 30 vears ? i0.6.6.8
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“Pareto Optimality is a necessary but not sufficient
condition for welfarc 311;1xiruizat-._ion." Explain this
statement highlighting the role of ‘Sacial Welfare contours’

and ‘Utility possibility contours’ for a welfare maximizing

state. ' 30
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Derive 1S and LM curves. What determines Lhe shape
and slope of IS and LM curves ? Using different shapes
of IS and T.\M curves. highlight t'.hé implications of fiscal

and mon=tary policy for an eccnomy, 16,10,10
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Do wou think that speculalive demand for money i=
rezponsihle fc;-z' the existence of involuntary unemployment
in 1&9}-‘11&5‘&311 model ? Give reascens in support of your.
answer. [low thisz model is different from classical
hypothesia ? : ‘ 15.5.10
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Differentiate between Human Develcpment Index {I1DI1)
and Human Poverty Index (HPI) as a measufe of
developm-ent. Which one according Lo ydu 12 a better
measure ? What linvitations have these approaches
as measureé of economic development ? .'W'hat._
suggestions would you make for j_mpruvement..% of those

approaches 7 | : 10.5.7.8
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Explain Harrod-Domar Model. How is the neoclassical
model of srowth dilferent from this one ? Do you think
that the neo-classical model of growth is extension of
what Harrod-Dumar propounded or you find it superior
to that. (Give reasons in support of youl; answer. 14,16
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Do you see any significant difference hotween value addoed
tax and sales tax ? Elaborate. Differentiate between
private and social cost-benefit. Which one of the two is
more relevant lo government investment decision-makmg

and why ? 10,1010
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Write zhort notes' on any two of the following - 15,15
() Phillips Curve:

1) Prizoner’s dilemma;

{zr) Dead-weight Inss;

{Tv [heluasive growth
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